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………..………………………HN …….…………….AN….………… 

/ / . ./ . / ……..…………….. ……  ……………….. (Gen)   (1)  (2)

………………………. (Age)…………………. ……………….

………………… …………….

(1) .1- .6

(2) .1- .6

(3) . .
................................   …………………………. 

STUDY1…….
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(4) 2
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4. (1) 2 (  8 )
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(3)

(4) 2      (5) 

Smoke 2……

5. (1)
(2)
(3)

K1 ……….……
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6. (1)    ( )
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(3)

FR1………… 

FR2………… 
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    .
    .
    .
    .

…………………………

(1)       (2)
(1)       (2)
(1)       (2)
(1)       (2)
(1)       (2)

HT………

DM……..

EP………

JP………

OT……..

2

8. (1)
(2)
(3)

HOME……….
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1 /
 / 

(OSSTRUTIVE  VENTILATORY  DEFECT) 

9.

10.

11.

 3 

12.
/

(1)       (2)

(1)       (2)

(1)      (2 )

(1)     (2)

(1)       (2)

(1)       (2)
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(1)     (2)
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(1)       (2)

(1)      (2)

(1)      (2)

(1)     (2)
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A2/5……… 

A2/6………
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A3/2……… 

A3/3……… 

A3/4……… 

A3/5……… 

A3/6………

A4/1............ 
A242…… 

A4/3……… 

A4/4……… 

A4/5……… 

A4/6………
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2

(RESTRICTIVE  VENTILATORY  DEFECT)

14. (1)
(2)

(3)
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16.        (1)   
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          (3)    
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17.
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.
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  (1)                (2)              (3)

  (1)                (2)              (3)

  (1)                (2)              (3)

  (1)                (2)              (3)

hist1……

hist2……

hist3……

hist4……

hist5……

hist6……

hist7……
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 (content validity index)

=

             

3

1 2  =  36/42  =   0.86 

1 3  =  37/42  =   0.88 

2 3  =  37/42  =   0.88 

             =  2.60 

              = 2.60 /3 = 0.87
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  (Stability)

 (test - retest)
2

 ( r)  (stability)
42

30 2 1260

Spearman r 0.742

 (Internal consistency)

- 0-1 23  (N of 

items) 30  (N of cases)
 (Kuder - Richardson) Parallel

0.7859 0-1

-

 (scaling) 19  (N of items) 30  (N of cases)
 (Cronbach)

(Alpha Coefficient) 0.7482
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2. .
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“

”

 (Longan sulfurization process)

2551

1.

2.

 ( .506) 10



139

.
. 0-5359-6513-9
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